

What can go wrong with the guessing method for yp? If your ye guess appears as a term in Yh then you need to multiply your quess by powers of X until your guess doesn't appear as a term in Yh

EX: Solve  $y'' - 5y' + 4y = 8e^{x}$ Stepli Solue  $\gamma'' - 5\gamma + 4\gamma = 0$ The characteristic equation is  $r^2 - 5r + 4 = 0$ (r-4)(r-1)=0r=4,1The roots are  $-(-5) \pm \sqrt{(-5)^{2}} - 4(1)(4)$ 2(1) $= \frac{5 \pm \sqrt{9}}{2} = \frac{5 \pm 3}{2}$  $= \frac{5+3}{2}, \frac{5-3}{2} = 4, 1$ 

The solution to 
$$y'' - 5y' + 4y = 0$$
  
is  $y_h = c_1 e^{4x} + c_2 e^{x}$ 

 $(Ae^{\times}) - 5(Ae^{\times}) + 4(Ae^{\times}) = 8e^{\times}$ y"-5y+4y This gives  $0 = 8e^{\times}$ This isn't solvable. Since yp=Ae appears as a term in  $Y_{L} = c_{1}e^{4x} + (c_{2}e^{x})$ we need to multiply our guess by an X. Instead guess: yp=Axex  $y'_{p} = Ae^{x} + Axe^{x}$ We have  $y_p'' = Ae^{\times} + (Ae^{\times} + Axe^{\times})$  $= 2 Ae^{*} + Axe^{*}$ 





Need -3A = 8

 $S_{0}, A = -\frac{8}{3}$ Thus,  $y_p = -\frac{8}{3} \times e^{\times}$ y'' - 5y' + 4y = 8eSolves

Step 3'. The general solution to  
$$y'' - 5y' + 4y = 8e^{\times}$$

is

$$\begin{aligned} y &= y_h + y_p \\ &= c_1 e^{4x} + c_2 e^{x} - \frac{8}{3} x e^{x} \end{aligned}$$

Ex: Solve  
$$y''-zy'+y=e^{x}$$

Step 1: Solve  $y''_- zy' + y = 0$  The characteristic equation is  $r^2 - 2r + 1 = 0$ We get (r-1)(r-1) = 0So we get a repeated real root r = 1

Then, x  $y_{h} = c_{1}e^{x} + c_{2}xe^{x}$ is the general solution to y'' - Zy' + y = 0

Step 2: Now we guess yp for y'' - zy' + y = e'6(X)

The table says to guess 
$$y_p = Ae^{x}$$
  
But this appears in  $y_h = c_1e^{x} c_2 x e^{x}$   
So multiply by x and guess  $y_p = Axe^{x}$   
(our guess)  
But this appears in  $y_h = c_1e^{x} + c_2xe^{x}$   
But this appears by x again  
to get  $y_p = Ax^2e^{x}$   
Now we plug it in.  
 $y_p = Ax^2e^{x}$   
 $y'_p = 2Axe^{x} + Ax^2e^{x}$   
 $y''_p = (2Ae^{x} + 2Axe^{x}) + (2Axe^{x} + Ax^2e^{x})$   
 $= 2Ae^{x} + 4Axe^{x} + Ax^2e^{x}$ 

Plug these into  $x'' - 2y' + y = e^{x}$ 

to get: (ZAe+4Axe+Axe) -2(ZAxe+Axe)  $+Ax^2e^x = e^x$ 

This gives: 2Aex+4Axe+Axe-4Axex-2Axe+Axex We get:  $ZAe^{x}=e^{x}$ 

Need ZA = 1

 $5_{0}, A = 1/2$ 

Thus,  $y_p = \frac{1}{z} x^2 e^x$  solves

 $y'' - Zy' + y = e^{x}$ Step 3: The general solution to  $y'' - 2y' + y = e^{x}$ is  $y = y_h + y_p = \left[c_1 e + c_2 x e^{x} + \frac{1}{2} x e^{x}\right]$ What would you guess Exi for Jp for  $y'' + 2y' = 2x + 5 - e^{x}$ R tuble says table says guess gvess C e× AX+B

You'd guess: 
$$y_p = A \times + B + Ce^{x}$$
  
Ex: What would you guess for  
 $y'' + y = 2sin(x) + x^{2}$   
 $+able$   
 $says$   
 $Acos(x) + Bsin(x) Cx^{2} + Dx + E$ 

So guess  

$$y_p = Acor(x) + Bsin(x) + Cx + Dx + E$$